Algebra 1 (CP) Name KE\i

Final Exam Review #1 (Chapters 6-8) Date Period

Solve and Check each equation. There are 2 ""No Soutions".

1) 8#—-10=n+4 2) 2x+7x=3x+2+4x-14
2] 6 S»=T1% =12
.
STEPA: SIMALFY RoTHSiess B —
STEPR: GET UARIASLE ON "‘_At_ ==z
A SI0E = -2
STEPS: ZSTEP £QUA Tim A6
XuNDdoO +, - B
# THeA UA:DO X, = c:-z(e\-t?m-B(c)*H‘f“) 1y
STEFH: Check \N THE 36 =230V
O a3 G inAL £GUATIVN
="
3) 6x—7=—(-7x-2) 4) 48 —4x=6(x—2)
=) 6 _ygeuy = Cx-12
+4x +4x o
yg=Jjox-\
‘iz +1
o =1
Lot R
. 45 - =((6-2
C: 4% q(‘:.(:}szq/ )
5) 3(7 + 85) = 9(~9 - 35) 6) —4—2n=—Sn—1)+2 | SPECIAL CASE
-2} 2N Y%= —2Rr 2y
—qn -4 = —Zmrb
j;z.ﬂ +7N
-4 =L F

/

Whenthe Voribie Jr..p.s
ave not e Quac TheN

’ N =2 No Swm

————




& D\STP:\MTB("\\
a-éero 3
ope reRonTS

=™
7y —(4n -10)=2 +zth

2
3] ®C)Y IN-")OQT‘

@ Expe
~4N+0 = 24Yn -1y, @x ‘_’_N:\:R

- 10 24a - 14

+;' 0 @11- LR
0= SM-‘

Y ———

TR ED

"'('-l('%)-—lo) =2 +4(3- ‘-l)
22V

Apssute Vawe Eovamieds
3 Foams 85§ — 10
® \X\ = Fnomben

5) || =

c: \3\’2 & Solitfonis
3:2,/ @)
x\ =0
ﬁ :
é: l-z.|=2. 1 30ld &=
@ \x\ 2> ~Numbe-
222V

X2 NO SeluTiun

(9) [ol -

. l ‘ _ 17’_' Absalote greloe

2 Con ned
J_@= = No solution. | ‘”“J"me
¢ \o\ =0
o =0y
Chapter 6 - fevarie: Vamble Symbo) 3
Draw a graph for each inequality. /
1) m<1 12) 62x_ 5 (x40 P
-T-6-54-3-2-1012 3 4 5 67 -7T-6-5-4-3-2-101 2 3 4 5 6 7
13) x> =1 14) =3 <n (@

.......
e p———t T

-7-6-54-3-2-101 23 435 6 7

Write an inequality for each graph.
15)

-7T-6-54-3-2-101 23 45 67

-T-6-5-4-3-2-140 1 2 3 4 5 67

£\osed dat
7, s ,=



Solve each inequality AND GRAPH its solution.
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Solve each inequality and graph its solution.
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Solve each compound inequality and graph its solution. (6pts each)
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Chapter 7

Solve each system by graphing. Check!
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Solve each system by substitution. Check!
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Simplify. Your answer should contain only positive exponents.
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